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Topic:- Child Development & Pedagogy (CDP)

1) In what part of memory does chunking occur? / '\‘Hﬁf & forg %’\Rﬁ H =fb (4usH)
g1 8?

1. Short term memory / Ffﬂ-aﬂ?ﬂ:f Fﬂﬁf

2. Long term memory / Erel-aprolle Pil:ﬁ'

3. Sensory register / Haer aeex

4. Working memory / Telel Hil'ﬁ' (afchar AARY)

Correct Answer :-

+ Short term memory /Fl'ﬂ-?ﬂ?‘ﬂ:f Fﬂﬁf

2) An anxiety disorder is characterized by :/- U fRidr @R $1 faewar g

1. An excessive or aroused state characterized by feelings of apprehension, uncertainty, and fear. / U

Jrafie a1 Saford fRufa St fos smeieet, 3fAfEadr 3R YT ot yigmsi @ fadivar g1
2. Disordered thinking / ﬁ%’ =

3. An emotional condition classified by excessive checking/ 3IATH S CEIRY ddﬁdgd Uch
HIITcAs el

4. An emotional state identified by panic attacks / dfeh 31¢H ST dolg & Teh HGATcHS
eufal

Correct Answer :-

« An excessive or aroused state characterized by feelings of apprehension, uncertainty, and fear. / Uch

s T Iaford FRufa s b 3meiepT, IRfEdar Sik wa ot yiael & fo=ivar g1

3) A devoted teacher would adopt to arouse interest of the learners. / Uh gHfda

Rrere &1 Rrend &) =fr s & forg &1 YT R

1. Demonstrative methods / qa"%i?-l' afer


Lenovo
Stamp

Lenovo
Stamp


2. Innovative methods / AT Tafer
3. Easy methods / 3THTT fafer

4. Direct methods / 9caeT fafer

Correct Answer :-

« Innovative methods / Tararr fafer

4) variations in social values can be attributed to: / JTHTOI® H\Eﬁ' ¥ ggard ! 3'\"4%‘7 fere
SR g &1 Wl ¢

1. Reducing inequality / 3 HHTAAT I hH FHIAT
2. Social change / TTHTTSTH gRadeT
3. Social mobility / HTATIS ITTaferar

4, Transmission of culture / +i+q3|'<‘1 T IO

Correct Answer :-

« Social change / AT IRATA

5) According to the view of , @ schema includes both a category of knowledge

and the process of obtaining that knowledge. / = = * Ef@?ﬁ'UT & IR, UPh
T & 1 B T Aot 3R 9 DI YT S B HhaT G 2

1. Jean Piaget /\_rﬂ:f BRI
2. Erik Erikson  / Q|§$ s“ﬁwq

3. Jerome Bruner / ST g?IT

4. Sigmund Freud / F87#3 WIS

Correct Answer :-

« Jean Piaget /\_rﬂ:fﬁl?:ﬂ@f

6) Teachers have to deal with of learners. / ﬁT&ﬁﬁ' 3| ﬁT&IT A &t & 91y
S BT USdT 81

1. Inclusivity / FATATRET
2. Diversity / Tafaerar

3. Diverge / TadeleT

4. Giftedness / ST



Correct Answer :-

o Diversity / Tafaerar

7) Teaching Pedagogy Influences the performance of children as it enables the child i

?&mwaﬁ%uu&raﬁmnﬁam%ﬁ%waﬁﬁ_ H H&rq I491d1
|

1. to practice similar things again and again / JHIH ISl BT TR-TR AT B
2. to be more disciplined / 3w 3171’521@?[ él:ll

3. to do more class work and home work / 3 & By (CHIN dccb) 3R 11‘5’-$r8f (E?I'q 3747)
PAT

4. to listen and engage in learning / Siferm | A1 3R T Nkl

Correct Answer :-

« to listen and engage in learning / SfRTH # g0 3R el

8) John uses clinical interviews in his class to know the problems of students. This shows his

role as a . /| SATeT 3T9eAY F&TT H BTEY ! FHETTHAT i STTeT & [T #AGITeleh HIETTHIT HT
YN FIATE | TG SeTeh! S{fAAHT FI Y H g gl

1. Co-learner / H‘ef—fQ\T&:lTaﬁ

2. Negotiator / CIGICIES

3. Classroom researcher / T 37=dYh
4. Facilitator / 98T

Correct Answer :-

e Classroom researcher/%&:lT}]ﬁW

9) Who proposed language and thought to be independent? / fraa y&arfad forar & smem
IR AR Faaa g &2

1. Vygotsky / arsaicdenr
2. Piaget / TOaTaY

3. Kohler / hIgeR

4. Chomsky / ATHET

Correct Answer :-



« Chomsky / TTHEHT
10) Assessment for learning involves / 3TT8I3TH & 3fThelel # eMfAT &

1. sharing exemplars at different levels of success according to certain criteria /iw_u’?:llo'-la‘g'l &

3TAR Bl o AT TART U 3TE0M hT ATSHT AT

2. providing grades or marks against students work / ©T31 o &lH o TG IS IT 37 YGleT
CRGI

3. summative use of formative assessment / WWWWW
4. use of tests and exams / 87T 31 9TeTT ST 3UATeT

Correct Answer :-

« sharing exemplars at different levels of success according to certain criteria /io_tS?FIIHa‘?fl &
3TAR Bl o AT T T 3STR0T T FISAT ]

11) Which of the following is not a teaching skill in inclusive education? / fAFfaf@a &
¥ Fla gaTaeh Raw 7 v RAavor Fharar a6 B2

1. Blackboard /@W@c
2. Questioning / J&dTS

3. Problem solving / HHEIT HATHTT

4. Reinforcing / Jc& T Yl

Correct Answer :-

« Blackboard | SAihalS

12) When children learn to be aggressive because of exposure to violence in media, what type of
learning is being displayed? / ST§ s=a #Hifsar H 9T & 9uF & HA F HROT ATHIAD
gar e @Y P yeR #1 Aftes veiRia @ar ¥

1. Classical learning / FellTiehel TSI

2. Media learning / #HIfsaT 37T

3. Exploratory learning / 3{a2fY 37ferersr

4. Observational learning / TdRINUTTcA® 3O

Correct Answer :-

« Observational learning / Td2IYUTIcH® 3if&RTHT



13) Intelligence quotient is / ﬂ'&ﬁl’ afeer &

1. Chronological age/mental age x 100 / 2RI g | AARAS 3 x 100
2. Chronological age x 100/ Mental age / 2TRIR 3 x 100 / AATAS 3Ig
3. Mental age x 100/ Chronological age / AATGS 31T x 100 | IRA I

4, Mental age/ Chronological age x 100/ HTeTT&h g / IR 31T x 100

Correct Answer :-

« Mental age/ Chronological age x 100 / HTHeh g / AR 3 x 100

14) Learning happens when the child observes someone. This learning is known as ./

I a9 T § o9 a=ar R F e @ q@ar ¢ 39 AIH F ™
H ST ST

1. Operant conditioning / m@ W
2. Trial and error learning / Wc_o'l'-a% 3rfeeTH
3. Social learning / AT 3TTETe

4. Insight learning / 3idsse 3aara

Correct Answer :-

« Social learning / HTHIToTeh 3TTEITH

15) Learners who have an earnest desire for academic competence are said to have a: / frameft S

A& Aegar 3 Fa@ JWF o1 WA ¥, 37 FeT AT B
1. Performance avoidance orientation/ 9621 IRER BFﬁEhW
2. Performance approach orientation/ gl giSeapror ED@WT
3. Work avoidance orientation/ T IRER BFJEI:@WUT

4. Mastery orientation/ HgId E)@WUT

Correct Answer :-

* Mastery orientation/ HERd 3¢ GTehToT

16) Several abilities put together is known as Wk 3 &THTT T UH HIY I@T AT
HEATdT Bl

1. Intelligence / ﬂ’a\:@'



2. Interests / wRT
3. Attitude / HAIG T
4. Personality / ITFded

Correct Answer :-

 Intelligence / gaﬁ

17) How many sub-stages are there in the sensorimotor stage of cognitive development?/

FAETCAS fae & FadAe or # Fas 39-Tvor g 2
1. Seven / "I

2. Five / 9T

3. Six / &

4. Eight / 3TT&

Correct Answer :-

18) Which of the following is not a likely characteristic of a child whose parents are authoritarian?

| Prafaf@a & ¥ w9 vF g fr PFasvEn 768, Ed Jar-Rar sftEaEad
(3rgiReRTe) &2

1. Unfriendly / K IEE]

2. Unsociable / THIATST
3. Independent / Tadq

4. Withdrawn / 3'133:-1@'
Correct Answer :-

» Independent / Tadq

19) Out-of-school programs allow middle school children to explore safe opportunities to form long-

lasting relationships with adults outside their families through . ﬁajﬂ\'ﬂl' FRIFHA & TG
AreafAs Regey & st # ¥ ATEIH F 39 GRART F IEY TIEH F qIY

WY AT TF g A Red s & T @A sraest A segaAfy gar ¥

1. pleasure and happiness / 3Tl 3R Cil_?ﬁ'

2. hardship and responsibility / m IR SFAeny

3. reading and writing for academic excellence / 3ThIG Heh 3copscdr & forw gear 3k forger



4. independence, peer relationships, and leadership / TaAAdT, EhaAT oY 3R ﬁ?{l}'?’

Correct Answer :-

 independence, peer relationships, and leadership / W?IT, H?EIWTﬁ' gaer 3R ﬁ?(l'ﬁl'

20) John is a student who is naturally aware of his personal emotions, feelings and motivation.
According to Howard Gardner’s Theory of Multiple Intelligences, which of the following intelligence

does he demonstrate?/ STeT Th B g AT YT IfFdIa maﬁ,um IR 9o ¥
FAIfa® TF ¥ 3G9Td &1 g1GE MEAT AT SANY 3HTF AdIud s T (THIfs AT
¥ RqHia) & 3AR, 37 v & ¥ e geftemr & weitia #war &2

1. Interpersonal intelligence/ 3o Jafads g@w
2. Intrapersonal intelligence/ ERECRIERED mw
3. Visual-Spatial intelligence/ T2T-TUTfeAeh g{fﬁm

4. Naturalistic intelligence/ TaTHTIAH ga{fﬁﬂm

Correct Answer :-

« Intrapersonal intelligence/ K RICRIERED m

21) Nature of children is: / g&dl &Y 971'7% g &
1. Destructive / E'IW

2. Imitative / fﬁlﬂ'

3. Imaginative / FeTeIT2iTel

4, Constructive / {deTcHh

Correct Answer :-

e Constructive / {TdddlcHD

22) What is the purpose of learning according to Humanism? / ATdqdrdg & HJHR e

T 38T FT §?
1. To ace the standardised tests / II'I:IEFQ'W UQQI&I'Uﬁ G UbheY (Uddh) B B 1%1?
2. To fulfil one’s potential / TRET T &THAT I FRU F & foru

3. To become employable/{\lddlliw\ch g & foru

4. To achieve financial security / fadr &t Hred F & forv

Correct Answer :-



« To fulfil one’s potential / TRET I &TFHAT I FRU T & T

23) What is the name of the disorder characterized by an inability to carry out basic mathematical

operations?/mmmﬁﬁmﬁmmmmmmﬂ
ATH F4T §?

1. Dyslexia / feEeiferaar

2. Dysmorphia / feraAifthar

3. Dysgraphia / T3GITTH3T

4. Dyscalculia / WHT

Correct Answer :-

« Dyscalculia / TSEherg I3

24) What animal was used by Thorndike in his experiment relating to operant conditioning? /
qIss® GERT BRI Ifaus ¥ afd galer & fre SIeraT &1 w2 R arn
qnr?

1. Rat / a@

2. Dog / bl
3. Cat / Teeell
4. Pigeon / Shed¥

Correct Answer :-

e Cat / fSeol

25) What type of learning did E.L. Thorndike propose? / §. Tel. UlAss® o fFd YHR &
I F71 yFaE W@

1. Operant conditioning / ThIATIE eJatral (31T hereriaiar)
2. Vicarious conditioning / UfafeTeieh 3-]@'3'217{ (a'r's”%ﬁ'aﬁ WS‘TQIT?I?T)

3. Classical conditioning / QTEIRT 3-|o:|16i‘£lo-| ERURERIETRITEND)

4. Effect conditioning / YHTT 310:13&‘2401 (thare harerfain)

Correct Answer :-

« Operant conditioning / ﬁ»‘zrrqa\?r 3-]?33?13' (3T HIreIfa)



26) In language development, the structural organization of a sentence is known as ./ HTST &

R 7, 0F I F TEAICHS FISAT B F T H A1 AT ¢l
1. Phoneme / €afieT (Praitea)

2. Syntax / AT Ta=ard (FHced)

3. Pragmatics / JZATcH (YIATEH)

4. Morpheme / SO (AT Ttha)

Correct Answer :-

« Syntax / ArFATdeard (FHeF)

27) Identity versus Role Confusion happens between the ages of / 9T
AT HfAFT A 3 F AT g B

1. Zero to three / X T <
2. Three to six / diel & B8

3. Six to eleven / B & IANE
4. Twelve to twenty / g b=l pa

Correct Answer :-

. Twelve to twenty / SRg adg

28) Any change that happens due to is considered as learning. /
& FROT @ aror R ot aRadsr F e A= STar
1. Injury / B[
2. Fatigue / dhlel
3. Maturation / GRIeFadT

4. Practice / 3FITH

Correct Answer :-

e Practice / JAFITH

29) Which of the following is a cue for a teacher to understand the aptitude of the child towards

learning?/mﬁﬁ#ﬂ@ﬁm*mmﬁmﬁﬁmﬁ
A & 0F Thd g7



1. Students answering questions in class./ 1A D&l o UY BT IR % Q% %I

2. Student’s assessment records showing the amount of learning achieved. / @13 3{Thdd ECARRRRED

GRT T T {1 &I &= 5
3. Student giving innovative presentation of their work./ &I 379 FA Fr AfAAT mﬁf o gl

4. Students doing their homework regularly. / ST GRIGGESIIEG W T @ g

Correct Answer :-

» Student giving innovative presentation of their work./ &I 379 FE Fr AT qmoﬁ o gl

30) Which of the following theorists of child development is not allied to the stimulus response

learning theowlmma?mﬁﬁaﬁqwm, ISl
fafsrar siftrm Riesia & Heaes =161 8

1. Pavilov/ 9rdelia

2. . B.waston / S1.&T. drdce]
3. Gesell / 31 8el

4. Hull / gel

Correct Answer :-

. Gesell / 3T

Topic:- General Hindi (L1GH)

1) O/T A T A

aaT & g@ g HT

ofaal A1 RF-aier $olt Aasae;

T AY @, N 75 WA,
Fad & Tal A JE A qiea

oeh-t TF I

FdT & Shfaa amor

BRI Ad T A

BN g g A

U ¢ 7 dnT ¢, AW ¥ EIATE

forae & atsr q e & s



T3 T RO-RIT Faer FIO B,

W/ aRH & Bh v 1@ Feow B

St § gurd Ffee

3HFT  FT IoIT-

ST A TAT AT

BN 3 g AT

glaen-ga Aew ¥, R@ar & 9w a@

&F gl &Y W AT & g@ F1 3Hd 7L

q@ ¥ 7 9l ¥em WE-Ta I W,

FI1 g4 S S G [@-THA A W2

St o forem o 3@

T q sfasT oo,

ST Ad el AT

BN 5@ g A

3YYFA ISHYT T YGHT Al q&F S a1 WA FT 3cad TAZTI
wooT: Hfaar # sqFd g@El F THE FROT F4AT 672
1. 9gdr 4 fog

2. AT T & 38719

3. GI9cT T 3T

4. GAAT AT T G HIA Bl

Correct Answer :-

o EAAT HAIT I TG Hld ol

2) ST AT Tl A

YT ¥ g@ g A

ofagl 1 R-arer $elt FAasmae;
aT-gaer AY @, N 75 AfAed,
Fdd F Fal A G oAt et
Sel-d Tk I

qeia & Sfifad &

ST AT Gl A

BN 3 g AT



g § 7 dq &, AT § T AW,
fraer & Sler q 37 & sRaATE|
T3l $T RU-Ra Faer FIge §,

® aRF & Bh v 1@ Feow F

St § gurd Ffee

IHHT q T IA-

ST AT TAT AT

BN 3 g AT

ghu-ga ew 2, R@ar & oy gt
&% gEl &' W A & g@ I IHd @
q@ ¢ 7 diq f@em WE-Ta I W,
F1 g1 S @ f W-qEA A W2
St o forem o 3@

FT q sfasT ooy,

ST Ad el AT

g g@ g A

3YYFA ISHIA FT YgHT AT & S I WA HT Ical TARTI
e AT g3 S e g HEd T w?
1. TH-gHd

2. Hid-g8d

3. Re-AreH

4. RIRR-gAT

Correct Answer :-

3) SR Ad ST AA

YT ¥ g@ g A

ofagt & fRa-arer el Aasa;
aq-gery AY @Y, fiq 1§ A,
Fad & Gl H G F&Al iGN |
el v g

aoTd1 g Shfaa efor



ST Ad el AT
BN T g AT

JA g 9T §, AT § T G,

e & gler q 37 & sRaAT|

T3 FT RO Faer FIIgen §,

W/ aRH & Bh v T Feow F

St § Tured Ffee

3HHT  FT IorT-

BT Ad el AA

BN g9 g A

gfaur-ga arew ¥, R@ar ¢ o ¢

aE el @ W AT & q@ FT A Q|

g@ ¢ @ dig @A e I W,

FI1 g4 S e e [@-HA A W2

St e e 3@

FT q Hfasy 3T,

ST Ad el A

BN T g A

39YFd YGIIT HI GGHT A S A dTe TeAHl 3ee T vl
Yol Ff & ITUR X 9l F NF Far BFh gl 87
1. Ueh &Toll I

2. 3TRIRIETETT

3. AR $RT 31T

4. rel deol

Correct Answer :-

o THh Tell Id

4) OET Ad Tl A

8T & g@ g AT

ofaal 1 Ra-aier ey Fersma;
ey 4% @, da T e,
et & oll 1 g = i)



sel-d T I

Fefar g Shfad ator

BT AG el AT

BN 3 g AT

T § o d%T §, A § T WA
raar & glsr q sae @ s
T3aT FT RO Faer FIgen §,

W afw # B v T Feow

s § T wfea

IHST J W IA-

BT A BT A

BN g g A

gfur-gd wew &, Raar § oy adt
&E gEt & W AT & g@ F1 I 7L
q@ ¢ @ dig f&er WwWea I W,
FI1 g4 S e Fel [@-THA A R?
St o e e 3@

FT q Afasy oy,

BRI AG el AT

BN 3 g AT

39T YGIIT Y YGH A & AW gl T FT 3ca} qaqmsv|
vee: frdll safda &t e I W FaF 7 @ex #1 q@ gar 82
1. 9l &

2.dig &

3. [l &

4, AT &

Correct Answer :-

w

e Tlc &

5) ST Ad ST A

aaT & g@ g AT

ofaal fr -3 ey AT



Fa-gaie o @, A wE i,
Fdd & Fal A G Tl et
Sel-d Tk I

FadT & Sfifaa aror

BT Ad el A

BN g g AT

JUA A 0T §, AT § T T,
raar & st q sae @ s
S[eT T ROT-RT Faer IS B,

& afgwr & Bd v aa Feom

N & guy Hfee

3HH J T Y-

ST Ad Gl A

BN g g A
gfaur-gd wew ¥, feman & gu it
aE gdl &Y W A & g@ FT A QI
q@ § 7 9ig f@en e I W,
FI1 g1 S @ e [@-TEHA A W2
St & e e 3@

FT q AfasT T,

BT A Gl A

BN 3 g AT

39T YGIIT T YGH A qF S gl T FT 3ca} qaqrsv|
Yo ‘BT Usq 50 Hiaar # frw wash & ygea gam §?
1. AT & forw

2. {iasTd el & foIw

3. IAATT HT & fow

4. el & faw

Correct Answer :-



ofaal ff Ra-ay b Awsmae;
aq-gery AY @Y, fiq w1 FfAah,
Fdd F Fal A G A dleat|
Sel-d T I

qadr g Shfaa amor

BRI AG T A

BN g@ gaAT AT

JY § o INT §, AN § T WA
raar & st q sae @ s
WHAT FT AOT-FAT Fael FHIJE0T ¢,

® dfw & Bd o @ Foow

S § gurd Fiee

3HE q F IoA-

BRI A Tl A

ghem g@ g A
gfaur-gar wew ¥, fomar & g et

& gut Y W A & g@ 7 3ia AL
q@ § @ 9ig f@en WeE-Ia I W,
FI1 g4 S S e [@-aHA S W2
St o fAer e 3@

FT q a#fasy oy,

BRI AG T AT

BN 3 g AT

39YFA ISGHY T YGHT Al & e aTd WA FT 3ca] TASTI
weeT: Ol & WY Ud WA & € AT F47 A AY @ AT 82
1. 9gdr & A

2. 9t & arg

3. 9 I &

4. 3Heh Tl I Farer

Correct Answer :-

« 38k el I Zar



7) SR A Tl A

T ¥ g@ gar "l

ofagl ff Ra-ay b Awsmae;
Fo-gar A% @, e 7§ A,
Fad & el T g Tt Aleelt|
oeh-4t TF I

qadT & Shfaa amor

BRI Ad T AT

BN g9 g A

JU § o AN §, A § T WA,
rae & Sler q 37 & saATE
Y3 T SROT-RiT Faer FIooT B,
& afgwr & Bd v aa Feom
S § gurd Ffee

IHF q T IoA-
BT Ad el AT

BN T g A

gfaur-ga wew ¢, fomar & dU et
& gul ) W AT & g@ 7 3 AL
q@ ¥ 7 9l Rem WE-Td I W,
FI1 g4 S S e -/ A W2
St fAer e 3@

F q sy ooy,

BRI AG T A

BN g9 g@ A

39YFA ISHY T YGHT AT G S a1 WA FT 3cal TASTI
TR 3W Hfaar A FF o Fad g i a1 372
1. A aTell §AG

2. IT @1 AT

3. 1T g3 Fel

4. HfdeT TUTy

Correct Answer :-



8) BT A Tell AA

AT § §@ Gl AT

oyt fr Ra-siy Sl Aesmas;
aa-gery AY @Y, fiq w1 A,
Fad & Tal A JE oA qiea|
oeh-4t TF I
FeraT g Shfaa amor

BT A BT A

BN g g A

I ¥ o 919 §, AW § F WA
foraem & atsr q e & s

T3 T SROT-RIT Faer FHIGOO 2,

® aiH & Bh v T FEom B

st § gured Ffee

3HHT T IA-

BRI A Tl A

BN 3 g AT

glaen-ga wew ¥, @ & 9w @

& gE @ W A & g@ M I
q@ ¥ 7 9l ¥e WE-Ta I W,
FI1 g4 S TS G [@-THA A W2
St fAer e 3@

FT q Hiasy a3or,

BRI A Tl A

BN g g A

3YYFA TSI T YGHT Al q&F S a1 WA FT 3cad TASTI
TeeT: §H A HAFTST FY FAT & g1 (@Al AMGT?
1. 3 &

2. 518 &

3.B18 ™



4. 9hs Y

Correct Answer :-

9) BHT Ad Tell AF

YT ¥ g@ g A

ofaal ff Ra-ay b Axsmae;
aq-gery AY @Y, fiq 71§ A,
Fdd F Fal A G Tl et
Sel-H Tk I

qadr & Shfaa aor

BRI AG T A

BN 3 g AT

TU § o NG §, A § T WA
raar & glsr q saen & sARm
THaT T ROT-Ra Faer FqeIgom ¢,

® dfw & Bt o T Foom

S § gurd FHiea

3HE q F Io-

BRI A Tl A

BN g@ g A

gfaur-ga wew ¥, femer & qu

& gt @ W AT & g@ 7 3 AL
q@ § 7 9ig f@em W I W,
FIT g4 S S G [@-aHA S W2
St o fAer e 3@

FT q s#fasy ooy,

BRI AG T A

BN 3 g AT

39YFA ISHY T YGHT Al I W aTd WA FT 3ca] TABTI
weeT: I, aHT F faRaa IR a1 arhr 7E war?
1. 3R



2. Hgel
3. HepTol
4. 9IS & STATYSHT

Correct Answer :-

10) SRT AG T A

aaT & g@ g AT

ofaat fr RE-aier Sl A,
aT-gory A9 @), fa 75 A,
Fad & Gl H G qet g |
el v g

geraT g Shifaa afor
BRI A Tl A

BN g@ e A

JU § F I9T §, A § T WAET
fSraar € ater q 3@ & s
Y3l $T RU-Ra Hael FIGeon §,
® aRF & Bh v T Feow B
St § gurd Ffee

3HST J F [IA-

BRI AG T A

BN g@ gl A

glaur-ga arew ¢, R@ar § 9u @@
&% gEl &' W A & g@ T IHd @
q@ ¢ 7 d9iq f@em WE-Ta I W,
F1 g1 S @ f @-qEWA AR W2
St o forem o 3@

HT q Hfasy a3or,
BRI A Tl A

ghe g@ g A

3YYFA ISHYA T YGHT AT qF S a1 WA FT 3cal TARTI



weeT: RFAT g1 F dracg AT F R aorw @ W TEar ¢ R@m$ &
1. §EAT & HROT
2. UM & HROT
3. 37T RO F

4. gfaem & HROT

Correct Answer :-

11) ST A Tl A

BT & g9 g A

ofaar f Ra-arer ey Fersma;
da-gaie o @, A wE i,
Fael & Gl A G T digah|
Sel-d T I
qeraT g Shfaa amor
BT AT Tl A

BN T e A

JA T ANT §, AT & o AN,
raar & glsr q sae @ s
S[e 1 ROT-RT Faer FIgSm B,
& afgwr & Bd v aa Feom ¥
St § gurd &
3AH J T Y-
BRI A BT A

ST 5@ g

glaen-ga AEw ¥, @ & 9w @
& gE & W AT & q@ F1 3 AL
q@ § 7 9ig @em WA I W,
FI1 g4 S S G [@-aHA S W2
St o e e 3@

FT q swfasy ooy,

BT AT Gl AA



BN g g AT

3YYFA TSI T YGHT AT q&F S a1 WA FT 3cal TARTI

geeT: R A TaET TEdT § Afhad A & 3T FAT goART AV g &2
1. 3cAT8

2. Frar

3. @aft
9

4.q4@

Correct Answer :-

12) ST A Tl A

YT ¥ g@ g A

ofaal ff Ra-ay B Axsmae;
Fo-gar A% @, A 7§ A,
Fad & el T g q=lt dlgeit|
el v g

qodT & Shfaa amor

BRI AG T AT

BN 3 g AT

I § o 99 §, AW § F WA,
orae & Sler q 37 & saTE
YS[eT T SROT-RiT Faer FIooT B,
& afgwr & Bd v aa Feom
S § gurd Fiee
IUF q T Io-
BT AG el AT

BN T g AT

gfaur-ga A 8, @ ¢ 9y Ad
& gut ) W AT & g@ 7 3 AL
q@ ¥ 7 9l Re WE-Td I W,
FI1 g4 S S G [@-THA A W2
St fAer e 3@



HT q Hfasy a1or,

BT AT Tl AA

BN T g AT

39T YGIIT P IGHF A & A gl G FT 3ca} qaqrsv|

WeT: A9 [hTer T Al o et FgvaeT 1 sgww F4AT 82
1.@;@

2. T &

3. TS

4. g@e 1S

Correct Answer :-

13) SR AF el AT

aaT & g@ g HT

ofaat fr R-arer $elt Fsae;
aa-gery A W, fiq w1 A,
Fad & Gl H G qelt diga|
oeh-4t TF I

FdT & Shfaa amor
BT A TAT AT

BN g g

I ¢ 7 doa ¢, AT § F AN
foraem & atsr q e & s
Y3 T ROT-RIT Fael FIoN B,
& afgwr & B & aa Feom
St § gurd Ffee
IHFT J T IIA-
ST A TAl AT

BN 3 g AT

gfaur-ga wew ¢, Ro@er & du et
& gE @ W A & g@ &I I
q@ ¥ 1 9l ¥e WE-Ta I W,



FI1 g4 S e For [-HA A R?

St o e e 3@

FT q Afasy aor,

BT Ad Gl A

BN 3 g AT

39T YGIIT Y IGHF A & A qTel T FT 3ca} qaqmsv|
weeT: Sfaet FT g &7 fFahr avg AY 7 J1ar 87
1. et off g AT

2. %ol §5 3aR T e

3. #eT 1 A T e

4. ot el T3reT T Re

Correct Answer :-

14) ST AG AT A

BT § §F Gl AT

ofaat fr Re-arer $el A,
TGy AV W@, A 75 A,
Fad & Gl H TG Felt qigen|
et TF I

FdT & Shfaa amor
BRI A BT A

BN 5@ g A

JU § A F9T ¢, A § F AN,
forae & atsr q e & s
T3 T RO-RT Fael HI B,
W/ aRH & Bh v 1@ Feow B
st § gurd Ffea
3HST J F IIA-

BRI AG el AT

BN 3 g AT

glaen-ga Aew ¥, R@ar & 9w @



&E gE & W AT & q@ F1 I A

q@ § 7 9ig @em W I W,

FI1 g1 S @ fe [@-TEA A W2

St o e e 3@

FT q HfasT T,

BT Ad el A

BN 3 g AT

39T YGIIT T YGH A & A Gl T FT 3ca} qaqmsv|
weoT: ‘Sfiae # § gl gt geraer, @ F3 #1 affur e 37
1. fordt & T

2. Slia=T &1 ;X THfAAT @

3. oS et &

4. gela=ll #J3T 4

Correct Answer :-

15) BT A Tell AT

aaT & g@ gl AT

ofagl i Ra-ay B Awsmae;
ae-gET Y @, e T @,
Farer & gt #1 @ o G
el v g

gt g Shifaa afor
ST A Tl A

g g@ g A

gy § 7 dWT ¢, A & 7 A
raar & et q saa & s
T3l $T RU-Ra Faer FIge §,
® aRF & Bh v 1@ Feow B
St & Tuid wfea
3HHT I TI-

ST AT Gl A



BN g g AT

gfaur-ga wew ¥, femer & qu et
&F et &' W AT & g@ 1 I A
q@ ¢ 7 d9iq @em WE-ua J W,
FI1 g4 S TS G [@-THA S W2
St o fer e 3@

FT q swfasy ooy,

BT A TAT A
BN 3 g AT

39YFT ISGHY T YGHT Al G e aTd WA FT 3ca] TABTI
YR BT Y Tol AT GHSa T HIRAA A/ FAT gl 82
1. @i

2. gy

3. g H

4. gIH

Correct Answer :-

o T

16) faen, wa, Sfaar, T, 49 R o A Y TR B Fgdr S SaifasHd 81 =R $t
FWT B YT b TP S SATGH renrsil & fial wR WY 31u=r vy S Iavat 31 59 Il & i
¥ al, 1R, R wifta &1 gy RIS wrw gt 81 307 eiftre gg 81 oiman 8; faen &1 fiewr Ra-a=
G 1T 8, -1 ST M= INT AT T 1T 8; 9971 YU 81 odl 8; AGD Pt A@-1 4F Sl 3; gfd
T 918 & A 8 U, 78 999 3R T 19 1 Txg IufRA 7 16T 31 TR B AT YT
TeT W ¥Edl 81 39 HTHT &1 fuvg Y[ xdd W arar 31 598 A & g oft zreg 181 a5 aarr
A1g Hear g3 ot 19 ], e ar gam ot e & N fyur 8, I wimar gam ot 3 & R F fieaR
TST 21 g au-) Pt FIoT # =R &1 Tt 419 9 A el g3 {1 7ud1, &1, 99 3R SeRd1 99 &
T FWTIRUT B YT & W ARSI 8 | A7 F S W i ARSI &1 YHTa "R gar @ 8ik
IAD| SATHT BT TP 30T g1 ST 2

A a1, | e, 7 diar, 9 9we, 7 gdi, 7 ufindt, 7 3@, 7 gféoft, 3-am, 3-Frm, 3-aem, fawma
T & SATEROT | Wi woft, iR Ter vl gon w-dt 8; 39% W A IRy 99 3R ufaar-ud R
ST &1 HedTul HIP aEqd gid &1 30P! SRR & 77 3R TaU B Bg a ofd ¢ | F80r et & st
YA TR SATERI & BTA FIeal P garaidl A ad 8 ord &1 AT IRE B TR §¢ 3 59T
TIYTT e ad By P AT BT U B ¢ | TR & A7 S T 31y A Td W & 97 W1 9ma 7
JTEROT & 3THG-Td I TG Frhx geil iR uddl 9 & gad Tod B T 1 ITERUT & Wi A=
q S B TP 741 Siia- U gar 8 | T9-1 R W €1 uwe 31 @ 81 g3 $1ee Jaqa gt eX 8l
Td § 1 g@ U oe WR 31T 31 T A e §1 $a uerdt & Ay v an A0- 419 T usar 31 g,
ST, 91, I8, URR, 9Td, UTd, 7R, TR} 3R a0 a & U 3Ydyd Yo 4fd & i+ g ora
WU ARSI & W 3o+t gaadl, ga-t srfadt SR ga-t wuTaad! gidt 8 f5 39s ar= &
TTGUTHT, FAT ATTEHTIT SR FIT 3T N BT UTHT T B T G5 Udid gidl &1 37 Big HTwT feag 18T,
P TRV Pt HF HTHT § ST B

IUYa TR B UgH 1 YD T U= $T Ik 9a13¢|



UR: 3(TERUT $1 T T HiF gl 82
1. PI-FHellT

2.5AH W PIS AgT
3. GIGAHY T
4. ggfergr

Correct Answer :-

o HIFIATHI HTHT

17) faen, &an, sfaar, Tifed, g9 3R Tora A o MR Y gugar siftre safasadt 81 smeRur #t
AT P U HP TP I STGHY Trorait & faal ur off Sru=T Y ST 9ahdT 81 39 Tl & o=
o, ¥ifed, SR Wit 3T srgya RafS wre gt 81 I0T 3iftres g &t &iran &; faen 1 Fievr Ra-a=
g oaT 8, FRA-war &1 W9 I0T SATuR @ ST §; 99T gU g ol @; AW® B awe! 3| ot §; gfd
T 91 & A A8 U, 78 799 3R T 13 &1 Txa IufRd 8 16T 31 SR $ MGGy U
TeT HiF gt 81 30 YT HT fvg Y[ 3ad U=l aren 31 $9° A & g off wrsg =81 a5 R
T Hear go ot i ], e 3ar go ot e & Wi fsur 8, I wimar gom ot I & R F iR
ST 31 GG au-l 3t (oI | STAaRUT &1 JWdl W9 U S Gl §5 ¢ | 7941, &4, U9 3R SgRaT 99 &
T YRR $1 YT F HI9 ARSI 8 1 AT & Siigd R MF AR &1 YT Ryt giar 8 ok
IAD| SATHT BT TP 3T 81 ST 2

T ®ra, | i, 7 dien, 7 9, 7 qdf, 7 ufdEfl, 7 379, 7 el 3-am, 3-Fem, 3-uem, fawma
ATHT & SATEROT A Wi S oft, Gl a1 wara goi Hdt §; §9 A9 & Ud 9 3R ufdsrar-ud R
ST BT STV DI [a¥qd 81d & | THD! JURRART | 7 SfX §ad DI Hg Ta o § | e0r Tt & 51
YA AR JTAROI & Pt qTGal Bt dgrardt & Had g1 9d 8 | AT~ IRG B RIAGR §U YoYU gHDT
FIYTT 3 q¥d B B G DI U HId & | TR B A S TH 3 A Td WR & 97 W1 9ma 7
STERVT & AT G- A IS FIh g&ii 3R Uddl dF & g6 Jod DI A1d & | STERVT & M+ T
q S B TP =747 sita- ured giar 8| 99-1 foaR Wi 8 Uee 811 aia &1 I 156 Jaqd 8 e¥ 8l
T €1 g@ U 5 HR 37T 8 | 7 A e § 1 S uardi & a1 U a1 WA1-H19 B usar gl g,
S, a1, I, URR, 9TH, UTd, R, TR} 3R 910 a9 & (P AYayd Yer 4fd & =4 g1 &
W=t SIS B He ga-1 gaadl, ga- srfacdt iR st yuTaadt gidt 8 % 9 e @
TTGHTIT, FAT ATTEHTIT SR FAT 3 N BT UTHT TS BT T g3 Uelld il &1 37 BIs HreT feaq 7Y,
Fad TR Pt HT YT & ST &

ST TR HT UgH 12 ID T YA BT I«i? Ja1ge|
TR Fae ATARVT BT T UTHT € T 82

1. T

2. GleAdIg

3. TSl

4. AGIAT

Correct Answer :-

. 3909

18) faen, wer, Hfaar, Tftw, ¥ iR IoRa A Y SmeRvr # Fwar e Saifasadt 81 smeRur $t
T B YT HXP TP S SATGH remrs & fial uR Y o= vy S wvat 31 59 9T & i



¥ al, arfed, AR wiita &1 gy Rif v gt 81 307 eiftre gg g1 oman 8; faen &1 i Ra-a=
e 11 8, -1 &1 W9 I0T AT 9 16T 8; 9941 gU 81 ST 8; AP DI aa-l AW el §; g
TN 1 & AT T FUI, T 79 MR Y B +1 Txa IufRya §) SraT 81 SrERr B Wgaray yren
el HiF gt 81 30 YT HT fHYvg Y xad U= aren 31 399 ArEE & g off wsg A8t a5 R
TG Hear gam ot 919 ], e ar go ot e & i fur 8, I wimar gom ot 3 & R F iR
TSI 31 gg 9u-l 3t o & SRl & Jwar 99 U S el g3 ¢ | 7941, ¢4, U9 3R SeRdl 99 &
T FWTIRUT Bt UTIT & W ARSI 8 | A7 F S W HiF AR BT YHTT R gar @ 8ik
IAD! SATHT BT TP 30T g1 ST 2

9 Prar, 1 e, 7 dtar, 9 9we, 7 gdf, 7 ufindt, 7 3«9, 7 afémft, 3-am, 3-Frm, 3-vem, fawma
AT & SATEROT | Wi woft, GrfRr Ter waia gon wRdt 8; 39% W A IRy 39 3R ufdmar-ud 9
ST BT HedTUl BT R 814 ¢ | ST ST | 7 3R §aT BT B Taa oId § | eur Tt | wret
YA AR TR & HTA dIal Pt ggraidl A Maa gt rd &1 AHEU~ IR FHg FAMGR g T3 sTB!
TIYHT 3 aid By P TG BT UTH HId ¢ | TR & 47 b TP 31 A Td WR & 47 W1 9ma 7
STERYT & ATE-Td A I B geil 3R Uddl 9P & TG Tod B3 A ¢ | MTERVT & M AT
q IS BI TP 741 Siia- UIed ghar 8 | T9-1 faR W €1 uwe 3 @vd &1 g3 $1ee Jaqa gt eX gl
WTd § 1 g@ U | e WR 31T 3 1 T A firerd €1 $a uerdt & Ay v 1t - U9 B usar 31 g,
e, 91, T, YRR, 919, UTd, 7, TR} 3R 910 9% & TP 3ygayd e gfd & a7 811 @ &
M=t AR B He a1 gaadt, ga- srfadt iR gait yuTaadt gt 8 % Sud @
HIGHTYT, T AISAHUTHT 3R T 37 I P YT T Bt T o0 Uil gidl &1 377 g W feew =Y,
P TRV Pt HF HTHT & $RGT B

ST T BT UgHR -1 TS TT YA BT IR Farsq|

T=T: ATGHTYT, IFSTUTNT 3R 30 =1 BT HTHT T Uelte gl 32
1. e

2. T

3. 9gHeH

4. 3T

Correct Answer :-

19) faenm, wa, B, Tfit@, g9 3R T A o e Y wdr e safasadt 81 smeRur #t
TIAT B YT b TP S TGH Iremreil & fal uR Y 3o wycd S Iavat 31 $9 90T & i
¥ al, aifed, AR wiita &1 gy Rifs wre gt 81 30T eiftre gg g1 oman 8; faen &1 dier Ra-a=
e 11 8, -1 &1 W I0T AT 9 16T 8; 9941 gU 8 ST §; AP Bl Al AW STl §; g
T ITd & A T2 U, T 799 3R T Bfa &7 Txa IufRud 8 A6t F1 SRRV F HGGTHT HIT
TeT {4 gt 81 30 YT HT fHYvg Y xad U= aren 31 399 A & g off wrsg A8t a5 R
TG Hear gam ot 919 ], e ar go oft e & i fur 8, 3 wimar gom ot I & R F iR
TSI 31 gg gu-l 3t o & STaRur & JwWar W9 U S Gl g3 ¢ | 7941, &4, U9 3R SeRdT 99 &
T FWTIRUT Bt YT & W AR 8 | A7 F S W HiF AR BT YHTT R giar @ 8ik
JAD| SATHT BT TP 37T g1 ST 21

9 Prar, 9 e, 7 dtar, 9 9we, 7 gdf, 7 ufindt, 7 309, 7 afémft, 3-am, 3-Frm, 3-vem, fawma
STHT & SMTERVT | A FTUoll, iRl et wamid gom Sl §; 39 M A Ugd U9 3N ufasar-ef ar
ST BT HedTUl BT R 814 & | ! JUFRAFT | 7 3R §aq BT B Tae oITd § | haur et § wret
YA TR TR & HTA dIal Pt ggraidl I Maa gt ord &1 AHEU~ IR FHg FAMGR g T3 sTB!
FIYTT e ad By P 3G BT U B ¢ | TR & 47 b T 31 A Td WR & 47 W1 9ma 7
STERUT & ATE-Td A I B geil 3R Uddl 9% & TG Tod B3 A ¢ | MTERVT & M T
q IS BI TP 741 Siia- YT giaT 8 1 T3-1 faR W €1 uwe 3 @vd &1 g3 $15e Jaqd gt gX 8l
WTd § 1 g@ U | o WR SATaT 3 1 7 A frerd €1 $a uerdt & Ay v an - U419 G usar 31 g,



S, 9, I8, URR, 9TH, UM, 7R, TR} 3R 910 a9 & U Ydyd Yo 4fd & i g o
AR~ ST H AgT §a1 gaddl, sd-1 rdadt 3R ga- yHaa«d! gidl 8 f 9P |- «r
HIGHTYT, T AITEAHUTHT 3R T 37 I P YT T Bt T o0 Tl gidl &1 377 Pig W feea =Y,
Pad 3ATERT Bt AT HIHT &) 2y B

ST TR BT UgHR A1 TS TT YA BT Ik JarsC|

U fHaet e qaadt, srdadt 3R guTaadt udid gl 82
1. FETaR

2. AlewdT SaTEATT

3. 3T

4. HaTdIX

Correct Answer :-

o AlTEdr TR

20) faem, war, wfaar, g, U= 3R Iea § o SR Y Jvgar ifte SaifasHd 81 3meRor &1
FIT B YT HXP TP S TGH renrseil & fial wR WY 3o vy S Iovat 31 59 Il & i
¥ al, e, AR wiita &1 gy RifS wra gt 81 30T eiftre gg 81 oman 8; faen &1 dier Ra-a=
G W11 8, RF-Far ST M INT AT & 1T §; 991 U 81 odl §; qGD Pt @1 4F Sl 3; gfd
TN a1 F AR T HUId, T T MR T S B Txa SufRya §) Srar 81 SirERr ) WagarHy yTn
e HiF gt 81 30 UINT $T fHEvg Y a9 U= arar 31 390 A9Ar & R off 2rsg A8t g5 R
A1 Hear gam ot 99 8, e aar go ot aren & @i fisur 8, 31 wiman gei o I & R F i
TSI 21 gg au-l 3t [Hor | STERUl &1 JWdl §9 =0 J el g3 ¢ | 7941, &aT, U9 3R SeRdl 99 &
TS FWTIRUT Bt YT & W AT 8 | A7 F g W) HiF AR BT YHTT R gar @ ik
IAD| SATHT BT TP 307 81 S 81

9 Pra, 9 e, 7 e, 9 9be, 7 gdf, 7 ufidya I, 7 gfémh, 8=, 3-frm, 3-uer, fawmra
AT & SATEROT | Wi woft, GrfRr Ter waia gon #-dt 8; 39% W A IRy 99 3R ufdmar-ud 9
SRTd BT HedT0l B fawqd 1d ¢ | STt SUFRITA & 77 3R gd BT Bg TG0 o1d ¢ | Hg0r TRt | ored
YA AR TR & HTA dIal Pt ggraidl A Maa gt rd &1 AHEU~ IRG Hg FAMGR g T3 sTB!
TIYHT 3 ad By P TG BT UTH HId ¢ | TR & 47 b T 31 A Td WR & 47 W1 9ma 7
STERUT & ATE-Td A I B geil 3R Uddl 9% & TG Tod B3 A ¢ | MTERUT & M T
q IS BI TP =741 Siia- YT giaT 8 | T9-1 faR W €1 uwe 3 @vd &1 g3 $15e Jaqa gt eX 8l
Td § 1 g@ U o WR 31T 3 1 T A e €1 $a uerdt & Ay v T - U9 B usar 31 g,
W, a1, T, URR, 9T, UTd, =R, TR} 3R 10 9% § TP AYdyd Gex gfd & 31 811 @« &
TR ARSI & Ul 3o+l gaadl, ga-t srfadt SR ga-it uuTaad! gidt 8 f5 39d I |
HIGHTYT, T AITSHHUTHT 3R T 3] I P YT T Bt T I il gidl &1 377 Pig yrn feea =Y,
Fad TRV Pt HF HTHT & $RGT B

ST T BT UgHR -1 TS TT YA BT Ik JarsC|
U= 3TERYT & 34 0N &1 gaM | 7 areqd 82

1. hael SR T2 AT &

2. hdol AT &Y Fell H IS 37T §

3. Shdel T9T-ell dieleTT a1fgu

4. 3UYFT @l

Correct Answer :-



21) faem, war, wfaar, Tifgw, o= iR Iora F o SR Y Jygar siftre Saifasedt 31 smerRor &Y
Il P U B TP I STGHY Trorait & faal ur off Sru=T Uy ST 9ahdT 81 39 Tl & o=
o, Wifed, SR Wit 3T srgyd RifS wre gt 81 I0T 3iftres g &t &iran &; faen &1 Fievr Ra-a=
g oaT 8, FF-war &1 W9 I0T SATuR @ ST §; 99T gU g ol §; dW® B dwH! 3| ot §; gfd
T 91 & A A8 S, 78 799 3R T 13 1 Txa IufRd 8 a1 31 SR $ WAy U
TeT HiF gt 81 39 YT HT fvg 35 339 U= aren 31 $9° A & g off wrsg =8| a5 R
T Hear go ot i ], e 3ar go ot e & Wi fsur 8, I wimar gom ot I & R F iR
TSI 1 §g au-l 3t (oI | STARUT &1 JWdl W9 U S Gl §5 ¢ | 7941, &a1, U9 3R SgRdl 99 &
T YRR $1 YT F HI9 ARSI & 1 AT & Siigd R MF AR &1 YT Ryt giar 8 3R
IS SATHT BT TP 3T g1 ST 2

T Fra, | e, 7 9ian, 7 9te, 7 gdf, 7 i, 7 3@, 7 aféof, 3-am, 9-fF=m, 9-uem, fawma
HTHT & SATEROT T Hi wooft, Ffr Ter waria gon wdt §; 39 W I WRIg 39 3R ufdmar-ud 9
ST BT STV ST %] 814 8| 3D JUFRAFT | 7 3R T4 BT B Tae oI1d § | feor et @ s
YA TR SATERI & HTA dIGal Bt ggraiel I Maa gt rd § 1 AHHU~ IR FHg FAMGR §¢ IO sTB!
FIYHT e ad By P G BT U HId & | TR & 47 & TP 34 A T WR & 97 W1 91 7
STERVT & 3(Te-Td A IHCW] FIHv geil 3R uddl 9% & geu T B9 T &1 STIRUI & HIF ARSI
Y U B T 747 Siia UTe et @1 73-14 faeR T € uehe g1 @ &1 g@ HIes Juyd g 8 8l
T € 1 g@ Ul # oie WR 37aT 31 7 A e 81 $a uerdf & 9y v an A0- 119 B usar 31 g,
S, a1, I8, URR, 914, UTd, 7R, TR} 3R 910 a9 § U AYayd Yer 4fd & =i g1 &
W= ARSI & Wt ga-1 aadt, ga-t srfadt 3R ga-it uuTaad! gidt @ f 39s | |
TTGHTIT, FAT ATTTHTIT SR FAT 3 I BT HUTHT T BT T g3 Uedld il &1 37 BIs HreT feaq 7Y,
Fad TR Pt HT YT & ST

STYeRT TR B UG A4 YD T T PT Sk JA15C

WA: THdT, 41, UH 3R SERAT 96 & 9q WWTERU ST YT & F7 52
1. Al AT

2. HEYR qrcltend

3. AYIAT & AT

4, 37Tl SATHIOT

Correct Answer :-

o AT TOrEIT

22) faen, o, wiaan, fgw, o= 3R Iog § o meRr F Gagar e safasHd 1 SmaRor &1
AT P U B TP I ST Trorait & faal ur off Sru=T Y ST 9hdT 81 39 Tl & o=iH
q T, Aifgd, 3R Tiia &t srgyd Rife e gt 81 30T it 1g 7t oimen 8; faen &1 iy Ra-A
G STl 8, RFA-ar ST M= I0T AT T 1T 8; 991 U 81 odl §; A9D P A1 4H St g; gfd
T 91 & A 8 U, 78 799 3R T 13 1 Txa IufRAd 8 16T 31 SR $ MGG U
TeT HiF gt 81 $9 WIYT HT f9vg 35 3ad U=l aren 31 $96 A & g off wreg =8| a5 R
T Hear gai ot 7 ], e 3ar go ot e & Wi fyur , I wimar gom ot I & 3[R & iR
TSI 1 GG au-l 3t (oI | STERUT &1 JWdl W9 U d Gl §5 ¢ | 7941, &4, U9 3R SgRdl 99 &
T YRR $1 YT F HI9 ARSI 8 1 AT & Siigd R M AR &1 YT Ryt giar 8 3R
IADT ATHT BT TP 30T g ATl 2|

T o1, | i, 7 9ian, 7 9te, 7 gdf, 7 uf¥l, 7 3@, 7 aféofl, 3-am, 9-fF=m, 9-uem, fazma
THT & SATIRVT | W Foft, T T g g Bl §; 39 W9 ¥ Ugd U0 3R ufderar-enf ar



ST &1 HedTu] HIP aeqd gid &1 30P! SURRITY | 77 3R TaU B Bg q ofd g | F80r Teft & w1t
YA TR IATERUI & BTA FIeal P garaidl A ad 8 od &1 AFHG IRE FH TR §¢ T3 59T
TIYHT (e ad By P 3G BT UTH B ¢ | TR & A7 F T 31y A Td WR & 47 W1 9ma 7
TRRUT & 3THE-Td ¥ S Bz gail 3R uddl 9 & ged Tod B3 @ & | ITERUI F HiF AT
q S B TP 741 Siia- U ghar 8 | T9-1 faR Wi €1 uwe 31 @ 81 g3 $1ee Jaqa gt eX 8l
Td § 1 g@ Ul o WR 37T 31 T A e 81 $a uerdt & Ay v an A0- 119 T usar 31 g,
e, 91, I8, URR, 9Td, UTd, 7R, TR} 3R a0 a # U 3Ydyd Yo qfd & i+ g ora
WU ARSI & Wl ga-1 gaadl, ga-t srfadt SR ga-t uuTaad! gidt 8 f5 39s |- |
TTUTHT, FAT ATTEUTIT SR FAT 3T N BT UTHT TG BT T G5 Udid gidl &1 3T Big HTWT feag 18T,
P TRV Pt HF HTHT § ST B

IUYa TR B U 1 YD T U= $T IR 9a13¢|
U= ST 3MSHT Iersit & e uR wr ST Jhar 82
1. 9%

2. Sholsh

3.qar

4. 9T

Correct Answer :-

o UHca
o]

23) faen, ®an, wfar, wfegw, o 3R Ioa | ot smevor $ Gygar ifte suifasHd 81 SmraRor
TIT B YT B TP SN STGH! reirsil & fGal uR W S1u=T1 WY ST Ivdl 21 59 Il & =i
A Fa, A, SR Fha &) srgyd RifS e gt 31 3 3if¥d 7 8 wiman 3; faen &1 FrewT Ra-a=
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o AT RE-aT

Topic:- General English(L2GE)

1) Read the passage carefully and answer the question given below:

Until the 1940s universe to us was largely restricted to objects that emitted light in the visible
spectrum. It was only during radio astronomy period that astronomers discovered that objects
in the space emitting radio waves.

When scientists detected those points in distant space that emitted visible light and radio
frequencies, the excitement was palpable. Astronomers Allan Sandage and Thomas Mathews
entered the scene in 1960. These two scientists identified one of the radio sources, but the
emission lines from the star-like object were nothing like anything they had encountered with
stars. Science often is a collective, collaborative exercise. Scientist John Bolton, the director of
the observatory, took charge of the observation with his staff. The radio source appeared low
on the horizon. Therefore, Bolton and his colleagues had to cut down some trees and even
remove some of the telescope’s safety bolts before they could catch hold of 3C 273 signal. After
they cut down the trees they discovered that the source was emitting a large amount of energy
and an unusual spectrum, this added further mystery of what these objects were.

In this passage, took charge means:
1. Took some order

2. Took in some electricity

3. Took control of something

4. Paid a price for something

Correct Answer :-

* Took control of something

2) Read the passage carefully and answer the question given below:

Until the 1940s universe to us was largely restricted to objects that emitted light in the visible
spectrum. It was only during radio astronomy period that astronomers discovered that objects
in the space emitting radio waves.

When scientists detected those points in distant space that emitted visible light and radio
frequencies, the excitement was palpable. Astronomers Allan Sandage and Thomas Mathews
entered the scene in 1960. These two scientists identified one of the radio sources, but the
emission lines from the star-like object were nothing like anything they had encountered with
stars. Science often is a collective, collaborative exercise. Scientist John Bolton, the director of
the observatory, took charge of the observation with his staff. The radio source appeared low
on the horizon. Therefore, Bolton and his colleagues had to cut down some trees and even
remove some of the telescope’s safety bolts before they could catch hold of 3C 273 signal. After
they cut down the trees they discovered that the source was emitting a large amount of energy
and an unusual spectrum, this added further mystery of what these objects were.



In this passage, entered the scene means:
1. Created a scene

2. Acted in a scene

3. Become involved in something

4, Entered a picture

Correct Answer :-

e Become involved in something

3) Read the passage carefully and answer the question given below:

Until the 1940s universe to us was largely restricted to objects that emitted light in the visible
spectrum. It was only during radio astronomy period that astronomers discovered that objects
in the space emitting radio waves.

When scientists detected those points in distant space that emitted visible light and radio
frequencies, the excitement was palpable. Astronomers Allan Sandage and Thomas Mathews
entered the scene in 1960. These two scientists identified one of the radio sources, but the
emission lines from the star-like object were nothing like anything they had encountered with
stars. Science often is a collective, collaborative exercise. Scientist John Bolton, the director of
the observatory, took charge of the observation with his staff. The radio source appeared low
on the horizon. Therefore, Bolton and his colleagues had to cut down some trees and even
remove some of the telescope’s safety bolts before they could catch hold of 3C 273 signal. After
they cut down the trees they discovered thatitheisource:was emitting a large amount of energy
and an unusual spectrum, this added furthermystery of whatithese objects were.

Why did Bolton and his colleagues cut down some trees?
1. To build furniture for their observatory

2. To get better radio signals from the celestial objects

3. To get a better view of the observatory

4. Because they used them to build the telescope

Correct Answer :-

» To get better radio signals from the celestial objects

4) Read the passage carefully and answer the question given below:

Until the 1940s universe to us was largely restricted to objects that emitted light in the visible
spectrum. It was only during radio astronomy period that astronomers discovered that objects
in the space emitting radio waves.

When scientists detected those points in distant space that emitted visible light and radio
frequencies, the excitement was palpable. Astronomers Allan Sandage and Thomas Mathews
entered the scene in 1960. These two scientists identified one of the radio sources, but the
emission lines from the star-like object were nothing like anything they had encountered with



stars. Science often is a collective, collaborative exercise. Scientist John Bolton, the director of
the observatory, took charge of the observation with his staff. The radio source appeared low
on the horizon. Therefore, Bolton and his colleagues had to cut down some trees and even
remove some of the telescope’s safety bolts before they could catch hold of 3C 273 signal. After
they cut down the trees they discovered that the source was emitting a large amount of energy
and an unusual spectrum, this added further mystery of what these objects were.

Allan Sandage and Thomas Mathews discovered
1. objects in the space emit radio waves

2. objects in the space shined brighter

3. objects in the space grew bigger

4, discovered a new planet

Correct Answer :-

* objects in the space emit radio waves

5) Read the poem carefully and answer the question given below:
Squishy and squashy — the best of friends

One without the other never remains.

Like they say — fruits are squishy squashy when a little over ripe
the shoes go squishy squashy, with water'in or outside

The skin feels squishy squashy with too much of flab

You feel squishy squashy after over-eating or eating food that’s bad.

So,

As you can see, squishy unexists without squashy

And the same, as the case is reversed.

For squashy has no meaning, it makes no sense without squishy — its bestest friend.
If you remove the “y”,

Squash and squish are either nouns or verbs.

But squashy and squishy, squishy and squashy, need each other.

To form an onomatopoeia, a meaningful structure.

“Squishy and squashy — the best of friends”. ..
The figure of speech used is

1. repetition



2. simile
3. alliteration

4. metaphor

Correct Answer :-

o alliteration

6) Read the poem carefully and answer the question given below:
Squishy and squashy — the best of friends

One without the other never remains.

Like they say — fruits are squishy squashy when a little over ripe
the shoes go squishy squashy, with water in or outside

The skin feels squishy squashy with too much of flab

You feel squishy squashy after over-eating or eating food that’s bad.

So,

As you can see, squishy unexists without squashy

And the same, as the case is reversed.

For squashy has no meaning, it makes no sense without squishy — its bestest friend.
If you remove the “y”,

Squash and squish are either nouns or verbs.

But squashy and squishy, squishy and squashy, need each other.

To form an onomatopoeia, a meaningful structure.

What would be the antonym for bestest friend?
1. enemy

2. unknown

3. kin

4. playmate

Correct Answer :-

e cnemy

7) Read the poem carefully and answer the question given below:



Squishy and squashy — the best of friends

One without the other never remains.

Like they say — fruits are squishy squashy when a little over ripe
the shoes go squishy squashy, with water in or outside

The skin feels squishy squashy with too much of flab

You feel squishy squashy after over-eating or eating food that’s bad.

So,

As you can see, squishy unexists without squashy

And the same, as the case is reversed.

For squashy has no meaning, it makes no sense without squishy — its bestest friend.
If you remove the “y”,

Squash and squish are either nouns or verbs.

But squashy and squishy, squishy and squashy, need each other.

To form an onomatopoeia, a meaningful structure.

“The skin feels squishy squashy with too much of flab”... The word flab means:
1. blood

2. fat

3. muscles

4. nerves

Correct Answer :-

o fat

8) Read the poem carefully and answer the question given below:
Squishy and squashy — the best of friends

One without the other never remains.

Like they say — fruits are squishy squashy when a little over ripe
the shoes go squishy squashy, with water in or outside

The skin feels squishy squashy with too much of flab

You feel squishy squashy after over-eating or eating food that’s bad.

So,



As you can see, squishy unexists without squashy

And the same, as the case is reversed.

For squashy has no meaning, it makes no sense without squishy — its bestest friend.
If you remove the “y”,

Squash and squish are either nouns or verbs.

But squashy and squishy, squishy and squashy, need each other.

To form an onomatopoeia, a meaningful structure.

“You feel squishy squashy after over-eating...” One word to replace the words in bold letters is:
1. satisfied

2. good

3. sick

4. wonderful

Correct Answer :-

e sick

9) Read the sentence carefully and choose the option that has an error in it:

As you have known, we have purchased a'substantial number of machines from your company
in recent years.

1. in recent years.
2. we have purchased a substantial number of machines
3. from your company

4. As you have known,

Correct Answer :-
¢ Asyou have known,
10) Read the below sentence and fill in the most appropriate suffix:

It is important for professionals to change their stress-- life.

1, --ful
2. --ing
3. --ed

4, -free



Correct Answer :-

o —-ful

11) Fill in the blanks with the most appropriate prepositions in the given sentence.
They decided to resolve the conflict  them and leave their differences

1. by, back

2. between, behind

3. for, from

4. with, for

Correct Answer :-
¢ between, behind

12) Fill in the blank with the correct option in the given sentence:

He works for a --national company, which has its head office in London.
1. bi--

2. anti--

3. uni--

4, multi--

Correct Answer :-

e multi--

13) Fill in the blank with the correct option in the given sentence:
Students who feel _____ do better in schools.

1. confide

2. confident

3. confidence

4. confidentially

Correct Answer :-

¢ confident

14) Choose the right tag:



All dogs are faithful, ?
1. haven't they

2. aren't they

3. are they

4. don't they

Correct Answer :-

e aren't they

15) Choose the option that substitutes the given phrase appropriately.
A person who leaves one country to settle in another

1. Refugee

2. Immigrant

3. Emigrant

4. Asylum

Correct Answer :-
¢ Emigrant

16) Change the given statement to indirect speech.

She said to the class, “You will have a test next week.”

1. She said to the class that they will be having a test the following week
2. She said to the class that they would have a test the following week.
3. She said to the class that will have a test next week.

4, She said to the class that would have a test next week.

Correct Answer :-
« She said to the class that they would have a test the following week.

17) Choose the appropriate antonym for the highlighted word in the given sentence.
There are striking similarities in the verses of three composers.

1. Divergences

2. Digresses

3. Disturbances



4, Distractions

Correct Answer :-

» Divergences

18) Choose the appropriate prepositions for the given sentence:

My son broke the glass the front door when he was angry his sister.
1. of, with

2. for, with

3. 0n, by

4. by, of

Correct Answer :-

o of, with

19) Choose the appropriate conjunctions for the given sentence:

I may be slow in doing the work __ there will not be any mistake of my perfection.
1. either, or

2. and, because

3. but, because

4. not only, but also

Correct Answer :-
« but, because
20) Choose the appropriate pronouns for the given sentence.

Being a shopaholic ’ was very excited to hear about the new shopping
mall.

1. myself , |

2. their, themselves
3. himself, his

4. ourselves, our

Correct Answer :-

o myself, |



21) Choose the appropriate option that rewrites the given sentence in its passive voice.
Book lovers from all over the world thronged the World Book Fair.

1. The World Book Fair throng the book lovers from all over the world

2. The World Book Fair has been thronged by the book lovers from all over the world

3. The World Book Fair was thronged by book lovers from all over the world.

4. The World Book Fair was being thronged by the book lovers from all over the world.

Correct Answer :-

* The World Book Fair was thronged by book lovers from all over the world.

22) Choose the appropriate tenses to fill in the blanks in the given sentence:

I for Dubai three years ago for my higher studiesasit_  my dream.
1. left, was

2. have left, will be

3. had left, has been

4. leaving, is

Correct Answer :-

23) Choose the appropriate synonym for the highlighted word in the given sentence.
Persistence is an important part of success in any profession.

1. Impatience

2. Loyalty

3. Determination

4. Frustration

Correct Answer :-

e Determination

24) Choose appropriate articles for the given sentence:
My best buddy got jobin MNC Company located in outskirts of Bangalore.

1. the, the, no article required

2. a, an, the



3. an, no article required, the

4. no article required, the, a

Correct Answer :-

e 3,an, the

25) Choose an appropriate modal for the given sentence:

Last Saturday, Sangeetha confirmed that she help me in my project.
1. should

2. may

3. might

4, would

Correct Answer :-

» would

26) Choose the most appropriate determiner in the given sentence.
Sita will be celebrating her birthday in August.

1. sister

2. fiftieth

3. thirty

4, best

Correct Answer :-
o fiftieth

27) Choose the option that best explains the highlighted expression:
Get a move on, you will be late for school.

1. Move slowly

2. Hurry up

3. Move away

4. Move quickly in your vehicle

Correct Answer :-

e Hurryup



28) Choose the option that best explains the highlighted expression:
The recent events have all the makings of a big political scandal.

1. to have the qualities that are necessary to become something

2. likely to go into

3. likely to destroy into

4, likely to spoil into

Correct Answer :-
« to have the qualities that are necessary to become something

29) Choose the option that best transforms the sentence into its Indirect form:
“Do you want tea or coffee?”

1. He asked me that | wanted tea or coffee.

2. He asked me if | wanted tea or coffee.

3. He asked me which | wanted tea or coffee.

4. He asked me whether if | wanted tea or coffee.

Correct Answer :-

¢ He asked me if | wanted tea or coffee.

30) Which of the following options best combines the given two sentences?

I drop this glass. It will break.

1. I drop this glass, but it will break.
2. I drop this glass, yet it will break.
3. Dropping this glass, it will break.
4. If | drop this glass, it will break.

Correct Answer :-

« If I drop this glass, it will break.

Topic:- Science (SCI)

1) Why are large poultry farms constructed? /



93 Fape BT F1 fAwtor w4 fHar Srar
1. To raise broilers for chicken meat in large numbers. /

7 7 & fow 3ifte dear 7 siger i 9o 8|
2. All the above facts . /

3uad gt 9z

3. To develop very good hatchery for egg layers, in large numbers. /

TSI TEIAT H 33T ¢ & [T 98 TATT FT AT Fled & o |

4. There is low maintenance requirement for developing poultry. /

FeFpedrelel & fahe & fv @ @@ i1 Aaegehdr &l

Correct Answer :-

« All the above facts . /

3WFd THT azT

2) If the ratio between Iron (Fe) and Sulphur (S) in Iron sulphide (FeS) is 7:4 by mass and the
total mass of it is 88 amu, what are the masses of Fe and S? /

IR IR FEBIES (FeS) A IR (Fe) 3 TedX (S) & T GodAT &1 31
7:4 § 3T SHHT o GoUA 88 WA Wl pAIFH(amu) &, A Fe 3R S &
SSOHATT F4T 82

1.Fe = 74amu & S =14 amu
2.Fe=72amu & S =16 amu
3. Fe =56amu & S =32 amu

4. Fe = 50amu & S = 38 amu

Correct Answer :-

e Fe =56amu & S =32 amu

3) Written examination is a/an of evaluation. / ﬁl'@?l’ T\ﬁ'&ﬂ, W G| U
__ 7l

1. implementation / STaTeadel
2. System / JUTTT

3. function /El'Tl'Cf

4. technique / RETIC

Correct Answer :-



« technique / REDIE

4) To have a productive and engaging science learning experience, for children
and adults alike, they can conduct small experiments with guided instructions,
like identifying rock specimens, watch insect metamorphosis, demonstrate

chemistry reactions, etc. This method involves? / a=dr 3R TIER & ﬁl’@,
& 3G 3R Fagy e wfles &7 e @R & faw, & e
el & w1y B’ T FT HATET FT FhA 8, AW AP AHAl T gEET
AT, FIT FRATTALOT STAT, T JATRTFAT F ygfia w3, i) s
[fr & anfae gar &

1. Science Kits / fa=1eT fohe

2. Research Laboratory Experiments/ﬂﬂ?ﬂf‘iﬂﬁ TATRITT JAT
3. Observatories / JYRITATU

4. Peer-to-Peer Teaching / qeHHI-U-TgHH! R1&m

Correct Answer :-

. Science Kits / a3l Tehe

5) In the winter season, two thin blankets'placed one over the'other are better than a single
blanket of same thickness because: /

wféat & Alwe &, 3 gaqe Faa F @Y F IW W I 3, AfF 3@ A a vw
Hed ¥ g} S § Fif:

1. The air in between the two layers will absorb more heat energy from the atmosphere /

al 9l & oI & gaT argHSH § 3T FSAT Foll d NI HEf|
2. The air in between the two layer acts as a conductor /

el Wd & €I &Y gaT Ush Talgsh & &I H FT HLar gl
3. The air in between the two layers acts as an insulator /

ar WAl & &g T gar U faHags & HE A g
4. Thick blanket absorbs more heat energy from our body /

AE shadl AN WR T H™F a1 Far & 3FM™T =a T

Correct Answer :-

» The air in between the two layers acts as an insulator /



ar WAl & T T gar U faHags & HE AT gl

6) What happens when a body covers 2m in every one second along a circular path? /

I v AFE, TER 97 | 93F dF3 F 2 AT fr gt a7 Far AT @
&

1. The body has non-uniform speed. / &I $r are IR-TAA g

2. The body has uniform velocity. / @I &T JT THTHATA gl

3. The motion is called non-uniform circular motion. / 31T T IR-FATH JAThR 1T gl
ST &l

4. The motion is called uniform circular motion. / Ifd &I ThEHATT FAThR T T STl

gl

Correct Answer :-

« The motion is called uniform circular motion. / 3T &I THhTHATA ddTeh afa chgl SITdl

gl
7) The physical quantity which has the unit N/m? is: /
siifas AT SEdr 3HE N/m2 gt §
1. Force / &el
2. Density / gelcd
3. Acceleration / cd3oT
4. Pressure / Gdld

Correct Answer :-

e Pressure /Gdld

8) Sign langue is developed for: /
Aihfas oo e 7 @ fFad o efa i 7€
1. The mentally retarded children / #ATARAS T & HHAIR gTdi & [T

2. The people with impaired hearing / §8%

3. The children with high 1Q / 3T Jef&l 3Yelstral aTel Sl & T

4. The blind people / 319



Correct Answer :-
¢ The people with impaired hearing/&%‘l’

9) lodine test is conducted for detecting: / TSI G{I&ToT fheesT Tar oerat & faw
frar SITar &:

1. Starch / T/
2. Sugar / BT

3. Protein / iG]
4. Glucose / @ﬂﬁ

Correct Answer :-

. Starch/ T

10) What are the two necessary conditions to be satisfied to say that work is done? /
uF Fg & T B FE T @ 97 &, @ maes et a4 §
1. Initially the body should be at rest and there should be an expenditure of energy. /

ARH A SR &1 FsmaAEedr 7 g arfigy AR Fot &7 g3 giar 9|

2. There should be a force acting on the body and there should be a displacement in the
direction of the body. /

T I g FRRA g1 arfgr 3R e &7 e & farams g afgu)
3. There should be a displacement for the body and there should be an expenditure of energy. /

A &1 ATuga g aifgr 3R F9T Fr 3 gar au|

4. A force should act on the body and there should be an expenditure of energy. /
Teh o1 [T WX SRR gl a1gT AR Foll &l eI glell ATy

Correct Answer :-

« There should be a force acting on the body and there should be a displacement in the
direction of the body. /

T W 9o FRRT g Tifer 3R Fer fr emr & [Jramga gar afRul

11) An electrical device is rated 1000W. What is the amount of energy consumed by it in 5
hours? /



% faga 3UFOT FT FeArFa 1000w fFar Srar 81 5 el & @ua & a5 Far A
AT 4T gl

1.1.8x 107J
2.1.8x10%)
3.1.8x10°)
4,.1.8x10°]

Correct Answer :-

. 1.8x107

12) |n a lake, Maria swims 60m in half minute and returns to the starting point along the same
path in another half minute. Find her average speed and average velocity./

uF sl &, ARAT M fAee & 60 ey et § 3R I 3Y Wee & 3¢ At @
IRAF g W dle sl 31 3w sitaa afa ik sitwa a9 I w1

1.2m/s & 0 m/s / 2 Hiex/Ads 3R 0 Hicy/Ads

2.2m/s & 12 m/s /2 Hicx/qds 3R / 2 Hiey/Jds
3.0m/s & 2m/s / 0 Hicx/Ads 3R 2 Hex/Adhs
4.12m/s & 2 m/s / 12 Hiex/AHs 3R 2 NeRADS

Correct Answer :-

e 2m/s &0 m/s /2 Hiex/AHs 3R 0 Hiey/Adbs

13) The period of a pendulum at a place depends on the: /

frdlt Turer W T dgerr dr af g W e we @

1. Mass and length of the pendulum /

JSelH T GedATe 3N olars

2. Mass and acceleration due to gravity at that place /

39 T W] dgbcdl*élul & HRUT gcTATT 3 caol

3. Length of the pendulum and acceleration due to gravity at that place /

I VM R ATHY & HRU UTH 3R &R0 $I dalg

4. Length of the pendulum and shape of the bob /

Sgem B daE IR S B PR



Correct Answer :-

« Length of the pendulum and acceleration due to gravity at that place /

I WM R ATHY & HRU YA 3R @R Pt daTg

14) Which of the following is not an example for the potential energy? /
fArfaf@a & @ Fa1 Rufasr 91 &1 vF g A8 82

1. Energy possessed by a body inside a flying air craft. / T 33d sdlé T8l & 376X T
fAerr ganrr g Fal

2. Energy possessed by a body placed at a height. / Teh 3 ﬂlg W W@ A CAaRT 9rcd
ST

3. Energy possessed by a compressed spring. / Tdh qaifsa sAreT GART YTCd ST

4. Energy possessed by a person lying on the ground. / STHIT 9T oc §'(f Ueh IfFd =CIRY
gTed S|

Correct Answer :-

« Energy possessed by a person lying on the ground. / STHI O3 o §'Ef Ueh IfeFd IR
gred St |

15) In which of the following media, the speed of sound is maximum? /
ffaf@a & 9 oy #aregw |/, eafd A1 a1fa qAOhaw g &2
1. Water / 3ol

2. Aluminium / Tegaiaas

3. Air / dg

4. Oxygen / 3iTargEISToT

Correct Answer :-

« Aluminium / umpﬂﬁmw

16) Muddy water can be purified by /
uffrer STl & $HS ANT Yy AT S WEhAT §
1. Loading / efcTeT

2. Threshing / #A3TS



3. Sieving / dTelel
4. Winnowing / 3iT&llT

Correct Answer :-

 Loading / efcTeT

17) In the case of semiconductors, as the temperature increases, the resistivity . /
rthaTes & AT A, AW-oRY aIHe Fgar g, yfadusar |

1. increases / 9¢dl g

2. decreases /| HH BldT &

3. becomes zero / [T HRSIGIN

4. remains constant / fER @l §

Correct Answer :-

o decreases / & gIar g

18) Select the correct statement from the following: /
frafaf@a & & ¥ F9a F71 997

1. Unlike charges attract / OO 3maer 3 e ia gl
2. Unlike charges repel / faudia 3maer gfas¥a & &1
3. Like charges attract / T3 3T 3THNT HId gl

4. Charges on a body cannot be discharged / Teh afd I 39TEUd 3TALT &1 [AdgeT Agr
feram ST Hehell &

Correct Answer :-

« Unlike charges attract / a9 313 NI A £

19) A screw gauge with nil zero correction gives the following reading when used to
measure the diameter of a wire. Pitch scale reading = 0 mm and head scale reading = 52
divisions. Given that Imm on main scale corresponds to 100 divisions of the head scale. The
diameter of wire from the above data is: /

T PUR FT UF &F A9 TF dR F A F A & AT 37007 F aF I W)
frafaf@a 8ffa &ar 31 R= #sw §fFr = o @sh stk &3 #ow &fFr = 52 @s)



o e § F Fyew Avw 1 1 @, 33 A9E F 100 @It F e g1 IWiET ST
¥ dR FT I &

1.0.0052 cm / 0.0052 ¥
2.0.052 cm / 0.052 T
3.0.26 cm / 0.26 T
4.0.52cm / 0.52 9#Y

Correct Answer :-

« 0.052cm / 0.052 @A

20) Find the thrust acting on a surface of .08m? if the pressure is 250Pa. /
IfE gara 250Pa § @ .08m2 Y Ha§ W FREG Yoilg H AT H

1. 200N

2.31.25N

3.3125N

4, 20N

Correct Answer :-

« 20N

21) Identify the acid present in red ants? /
are difeat 7 suftua sra fr ggme w0
1. Malic acid. / Helgsh 3%

2. Oxalic acid. / 3pAferld 3

3. Tannic acid. / ¢ 31Far

4. Formic acid. / WIde 31

Correct Answer :-

« Formic acid. / BIfH& 3Fd

22) Identify the reaction/s in which physical state of a substance does not change during a
chemical change. /



3 AR F1 ggant, owd fFd TaRfas oRade & ke fFdt uerd #r sl
feufa @dt seedt §1

1. All of these / 3ugercl Fafl
2. Water is subjected to electrolysis to form hydrogen and oxygen /

gISgrolel 3R 3ferdislel dellel & T urel &l faegd-3raees fham Sirer §

3. Mercuric oxide is heated strongly to from mercury metal and oxygen /

URT 4T AR HTSle Soilel & [T #RagRe 3NFArSs 1 Yaoral & a8 fohar
ST §

4, Magnesium ribbon is burnt in air to form magnesium oxide /

HeANRTH 3iFarss ga= & v ANRaa R & gar & Far Sar g

Correct Answer :-

« Magnesium ribbon is burnt in air to form magnesium oxide /

HIATATH 3FASS §olad & fav HAeAifge ReaT &1 gar H AT AT &

23) The effect of milk of magnesia on turmeric solution is: /
gedl & Ul W ATATIAT & g FT YHE I8 BT o
1. Yellow colour of turmeric solution first changes'to pink then‘becomes colourless /
drer T $T gear o1 °iel ggel I[elTal 1 A SGol offdl §, deaedld WIere @l Sl &
2. Yellow colour of turmeric solution changes to blue colour /

drol @1 T godl T Gl Ald TT H 9o Aar 2

3. Yellow colour of turmeric solution changes to reddish brown colour /
drel TaT &1 godl &1 °idT Y T H dgel ST gl
4. No effect /

PIs UHId Tal |

Correct Answer :-

« Yellow colour of turmeric solution changes to reddish brown colour /

diel TaT Y goar o1 el 3 W1 H Feol STl gl

24) The frequency of vibration of a string is 100 Hz. Then its period of vibration is: /

uF fEEer & &9er Fr mgfr 100 g€ar §1 @ F9eT dr afer @



1.0.1s/0.1 953
2.0.01s/0.01 9H3
3.10s /10 Hhs
4.100s / 100 T3

Correct Answer :-

« 0.01s/0.01 Qg

25) The trophic level of secondary carnivores is /
el ATATERY T AT T} §

1. Third / dTERT

2. Second / 8T

3. Fourth / =T

4. Fifth / grerar

Correct Answer :-

« Fourth /3t

26) The pressure excreted by the liquid at:ithe bottomsof a 'vessel depends on : /
TH T & dd I alel GaRT 9T 47 g9 36 9 R & §:

1. Total area of the base of the vessel / ScleT & ol &l Dol SELT

2. Height of the liquid column present in the vessel / Il H 33U el TAH FI 3TadH
et

3. Inner surface area of the vessel containing liquid / Yl e ScieT &7 3TARS I3 SE]

4. Shape of the vessel / Sciel T 3THR|

Correct Answer :-

« Height of the liquid column present in the vessel / ScdieT & 3URTYd el TAH T STddH
el

27) Neutral compound/compounds among the following: /

et & sere 3w / FiffEl f ggEe Ao

(i) €O, (ii) CO (iii) H,O (iv) CaO



1. (i) and (i) / (i) 3R (i)

2. (i) and (iii) / (i) 3R (iii)

3. (i) only / Shdel (ii)

4. (i), (i) and (iv) / (i), (ii) 3R (iv)
Correct Answer :-

« (i) and (iii) / (ii) 3R (iii)

28) Four identical vessels painted with four different colors are filled with water at 90°C.
Which of the vessel will have the least rate of cooling? /

IR FA 9 AR 39T T F O ge § R 90" Afewaw amvHAe & ae § X g
g1 FE 9T & ofiad @ fr X AeaaH e

1. Vessel painted with red / STl 37 & T3M g3 9T
2. Vessel painted with green / 8 3T & M g3 uT
3. Vessel painted with black / @Tel 8T & BT §3-1T CIE]
4. Vessel painted with white / &%he 3T & a1 §3—1T SIE)

Correct Answer :-

« Vessel painted with white / Tthe IT H &0l §3—1T SIE}

29) Which among the following is a monobasic acid? /

frfaf@a & ¥ a1 v ANER{E a2
1. C,H40,

2. H,CO;

3. H;PO,

4. H;PO;

Correct Answer :-

30) Which one of the following is not an alloy of Iron? /

farafaf@a & & Fa1 dle #1 v Rawrg ad @2



1. Solder. / EYesX

2. Stainless steel. / ToTeld TeTdl
3. Alnico. / UfesTar

4. Nichrome. / foshl#r

Correct Answer :-

» Solder. / "les

31) Which of the statements about non biodegradable wastes is correct?

i. They are commonly man made.
ii. They can be degraded by micro organisms.

iii. The soluble non bio degradable wastes enter food chains and cause bio magnification.
iv. They do not accumulate in nature. /

IotafAFNHONT 3qfAse & I # FiT ¥ Fua TEH 2

1 §AA: AT fafda @

i. ¥ GaH Al gar Aediga R o @@ §

iii fory sretafariatoiia sraflse @ s@ar # g F3d § 3R A9 mate s
gl

iv. ¥ UHfa 7 @ 3t B
1.iand iii /i 3R iii
2.iandii /i 3MRii

3.jiii and iv / i 3R iv

4. ii and iv / i 3R iv

Correct Answer :-
. iandiii /i 3R iii

32) Which of the following elements show malleability? /
frfaf@a & & Fla-a1 aea smaTaatar R §
1. Phosphorous / BIEHRY

2. Todine / 3TAET

3. Sulphur / eI

4. Zinc | Toieh

Correct Answer :-



33) World Environment Day is celebrated on? / fa?a yaTaRor eaq &«
HATT AT 82

1.May5/5 A

2. June 5/5 oot

3. September 15 / 15 fAdsX
4. April 27 / 27 3T

Correct Answer :-

« June 5 /5 el

34) Which physical property of Aluminium metal makes it possible for us to
make Aluminium foils to wrap chocolates, toffees and medicinal tablets? /

refafaas uig & FE difaw qoret § ST g4 3uFT 94T GiEe, e 3
sty Mt & TogfAfaas gelt TR & @l W A e @2

1. Malleability. / 3rerdatisidr

2. Good electrical conduction. / facTer s Femelehell

3. Good thermal conduction. / FSAT &$r gATershdl
4. Ductility. / degdr

Correct Answer :-

« Malleability. / 3eaTdadeigdr

35) Which of the following statements represents the science manipulative

skills of a student? / AFfaf@d & & &l W1 FI7 v oF & a9 &
Yerasg wiere (Aeigafed Fawe) w1 gfafafdes Far &

1. The student can differentiate between two related concepts. / ST &I Fefed
HIUROMST & T HR F Gl gl

2. The student can design a new experiment. / BT Tdh AT FANT f3AST
dehdT Bl



3. The student respects his/her science teachers. / ST 3791 TaaAeT forgThi r
AFAT AT g

4. The student uses the equipment in the lab within their limitations. / ST 301 TIATSIT
T YgH YN B SUSRUT BT SUTRT HRT g

Correct Answer :-

. The student uses the equipment in the lab within their limitations. / B 30T AHTSA
T YgHR YN B ISR BT SUTRT HRT g

36) Qut of the following options, choose the incorrect statement? / frestfaf@d
fadwedl & ¥, AT FIT FT TIT FRO

1. Inductive method of teaching is a constructivist model of teaching. / freyoT hr
3ITHAT T3, fALTUT &7 T ATcHS HAlSS gl

2. Inductive method of teaching is more student-oriented. / fRI&TOT &T HTITHT
fafer 31fte oE-37q4

3. Discovery learning theory promotes autonomy in learner. / 3/=a 0T 3787
fcurd, AfReHESdT A Fargadr #i «arar &an &l

4. Deductive method of teaching progresses from a specific concept to the general. /

freqor iy AerHT IS, ver Tafrse @rauRon SEAT Hr 3T Fedr &

Correct Answer :-

« Deductive method of teaching progresses from a specific concept to the general. /

freyor 1 FeTHT (A, Ter AfASe TUROT F AT AT 3T Fear 2

37) Write the given four colours in the ascending order of their wave length?
Yellow, Red, Green And Violet /

T 7T IR @Y F I GOt F IGER IRE FA A fAd?

1. Violet, Green, Yellow, Red / S3TaT, g1, UYelT, STl

2. Yellow, Red, Violet, Green / 9IdIT, &ITT, 31T, &1

3. Green, Yellow, Red, Violet / 83T, UTelT, oITeT, STl

4. Violet , Yellow, Red, Green / ST, diar, @rd, g1

Correct Answer :-



« Violet, Green, Yellow, Red / S3TaiT, 83T, 9TelT, oITel

38) The SI unit of power of alens is: /
TEH oA Y AfFT N TH.IE. FFE T

1. Watt /dIc

2. Dioptre / 31T

3. Joule/second /Eﬁ/@ﬁ%’

4, Joule/afr

Correct Answer :-

« Dioptre / STIICcY

39) What are the food requirements of dairy animals? / 338 T3t & sisrer $
TIIHATT FIT §?

1. Mixed feed containing dry grass, grams and other roughages. /
qE! U, Ie 3R 3 AlC IR § @FH O 3T s
2. Nutritious feed with additives. /
ArSTehl & AT H Giftesd HIsT|
3. Fresh green grass. /
drerm & =gl
4. The feed should include roughages and concentrates in balanced amounts. /

e A7 #Arer °ary 3ufd giar @nfev 3R wqfard amm & @ig gl @iyl

Correct Answer :-

« The feed should include roughages and concentrates in balanced amounts. /

Mo A Al IRT 3URYA gl UIigv AR Fdferd &A= # dig g wifge|

40) The intensity of the sound is related to:/
1. Amplitude / 3TITH

2. Frequency/mcﬁ

3. Pitch / fo=r



4. Wavelength / a3aT A

Correct Answer :-

o Amplitude / JTITH

41) For which liquid/fluid in the body are the below mentioned features applicable?
« Cellular processes take place in this medium.

« Substances are transported from one part of the body to another in the dissolved form.
IR A e ga/ava vard & R R Sfeafa fAdvary ang i 82

. 39 9TH § HIRG uihang gt &1

. gerd oI faaa ¥u # IRR & U [T I gu¥ HRT § Ugarn Sra1 3|

1. Blood / Yo

2. Water / 51

3. Sugar solution / T &1 9id

4, Salt solution / TJUT BT O

Correct Answer :-

o Water / §Id

42) Rishi is open-minded but believes every theory put forward to him by his friends but
rejects theories of his teachers. This primarily shows a lack of: / EERI @ﬁ-ﬁﬂ'ﬂ’f drell %
AT 95 IUD Gl GRT IHS THET 7@ 5 Rigia 3t aran g Afdb 3 gl &
Rigidl @ SRAIPR HIAT 81 98 T FUF ot B B T B

1. Respect for evidence / T8I & foIT GFATT
2. Scepticism / TRIIATG,

3. Prejudice / Clt\?ﬁ?,'l'&'

4. Objectivity / forsaerar

Correct Answer :-

. Objectivity / TrsTeTar

43) The commonly found fish thatis a surface feeder is /

AT U | UTE 9 arelt a9el e Th Y8 HHRP (ThT BIsT) 8



1. Catla. / ahdell
2. Mrigals. / #aTell

3. Rohu. / fl'ﬁ

4. Common carp. / IHI ST

Correct Answer :-
o Catla. / shddll

44) The electrical device used to measure the current through an electric circuit is: /

faggq uftuy & Areaw & fagyq & Ao & e IuahT & @ o+ arar fagga S gidr &
1. Voltmeter / dlecHIEY

2. Electroscope / faegdeet

3. Ammeter / 3THIE

4. Galvanometer / JedaAlAIC

Correct Answer :-

« Ammeter / 3TTHIET

45) The electronic configuration of an element is 2,8,1. The number of electrons that
possess the least energy /

fordt 9 &1 sAaei® Iy 2,8,1 31 ¥ sAaeHl @1 e o d =g=aw Sulf gl 3:
1.2

2.0
3.1

4.8

Correct Answer :-

46) Which of the following method will be ideal for laboratory work in a class of 50

students? / fAafaf@aa & @ #19 A fAfr 50 o= areh T Fem A ya=me & 1 &
forg st gRft?

1. All of the students work on the same equipment at the same time. / gt 85 TP B
TIT R TH gl IUH W B Fd g




2. Students are divided into groups and different experiments are performed by each

batch in a cyclic manner. / B &1 GggI § faHTiId fosan ST 8 iR vd® 99 gRI U&
Tep1g di A fAfrer v i oird g

3. Students are divided into groups and the same experiment is performed by each
batch. / ST &1 Tqg! § fauiforg fasan ST 8 8k U o9 gRT U 1 YA fosat ST
gl

4. Only teacher demonstrates the experiment in front of the whole class. / PHad & al
T & & A TN TERId SRl 5

Correct Answer :-

- Students are divided into groups and different experiments are performed by each
batch in a cyclic manner. / ST &1 Tg! § fauTioId fosar ST 8 $iR Ud® 9F gRI U&
T Wb I fafld g fpe 9 B

47) Identify an atom with no neutrons from the following. /
Frafafea & § YgHeH @ TRwTy 6 g |

1. Helium / gifead

2. Tritium / fefeas

3. Protium / 9IEIIH

4, Lithium / fof2=ms

Correct Answer :-

« Protium / Wi&H

48) A small fire in the laboratory due to sodium can be put out by: / qifsaa &
PR TH YARTRITAT | 0 aTell TP D! Al 31T B 39 GIRT THT o Pl 3¢

1. Using water / 9Teil & GdRT
2. Using dry sand / R[S Id & GEIRY
3. Using moist soil / 3fTell fTATET & gaR

4. Using CO, based extinguisher / CO, 3TTRT JMH® & ST GRI

Correct Answer :-

- Using dry sand / <[ Id & GEIRY



49) Collaborative learning approach develops which of the following skills in a

learner? / garTIH® SRATH Ty or @ Rremdf & Frufefaa # A foa s o1
e gar g2

1. Social and Academic skills / TSR 3R A&7 ierer
2. Critical thinking skills / 3TgeT TideT ahlerer

3. Relationship among concepts / 3ITURUM3AT o & Y

4. Interpretational skills / SITEITcH® ahieTel

Correct Answer :-

. Social and Academic skills / AT 3 P8I0 pierer

50) Identify the human practice that results in soil pollution. /
¥ AER e e aRumeTaET #ST Ygwor 8T 8, 39 ggEnT
1. Deforestation / EFﬁ“{(‘HI

2. Dumping of sewage into water bodies / STl el § 7a Sta|
3. Use of large amounts of fertilizers and pesticides / Ssl AT H Ja3T 3R HIcRIb! BT ITA|
4. Vehicular traffic / HicR UeyUl|

Correct Answer :-

« Use of large amounts of fertilizers and pesticides / ot AT § IR 3R BICARID! & IUTNT|

51) Name the animal or product which does not provide vitamin D. /
39 U AT 3G FT AT qa1¢ A RAefAa & ga= @ Far §
1. Fish / #ASell|

2. Eggs / 33|

3. Pork / {3 T A

4. Cow’s milk / 3T AT E'{\?-TI

Correct Answer :-
o Pork / Qil;3-1T T AT

52) A student is able to fix a focal length measuring apparatus despite
notreading about it as a problem on his laboratory manual. This shows the



useof which dimension of the cognitive process? / Tdh BT Th Bied HEIT'Q"

HTYA & IUDRUT D1 S1P B A WeW 8 Tafh 39 TARRIar A3 U TP THAT

gwﬁmaﬁﬁqﬁml g TS Ufspar & {5 A & IuanT S g2t
?

1. Knowledge / <TeT

2. Applying / HW

3. Evaluating / Hﬂ(ve—licho-l el

4. Creating / [o#TOT e

Correct Answer :-

.« Applying / HW

53) Which of the following statements does NOT distinguish hypothesesfrom

theories in science? / g A A &9 91 YA, fag= & Rigidl ¥ uReegarai
P 3T 8! Pl 82

1. Hypotheses usually are relatively narrow in scope; theories broad explanatory
power. / GR&HCTATT AN TT GRI # 37U&TIehd Henl0T glell &; Aeerd
H g9 SATEAcHS AfFd gidl g

2. Hypotheses and theories are essentially the same thing. / IR&eTATT 3R
fcurd Afar] &7 & U & it ol

3. Hypotheses are guesses; theories are widely accepted ‘correct’ answers./
URHIATY A &; [Pt sames &7 @ e 3R TR e o
el

4. Theories are hypotheses that have been proved. / i%lajawa d YRFeuATT &
St faey & g

Correct Answer :-

. Hypotheses and theories are essentially the same thing. / TR&HeIAT 3R
fcyurd e &7 & v & AT &

54) Which of the following can provide a non-formal learning experience
tostudents? / fRuffRd A ¥ F9 o & WR-Nu=nle AR T USH F
PHdr 8?2



1. Summer holiday written assignments / AT Hr 33 a\iéui H fear e arer
fofaa aaecere

2. Multiple choice question based test in class / H&T & agﬁao—emtr 0T
3menia et

3. Science clubs / Td3TT Fold
4. Conducting experiments in the laboratory / TaRTRITAT H YTRTT &1 e

Correct Answer :-

. Science clubs / &3 Feld

55) ¢Child-centred’ pedagogy means: / ‘STel-shiegd’ famemeT &1 3 &

1. Teacher dictating the children what should be done / TI&Teh sl I 3T &d
¢ o o1 foham S anigu|

2. The teacher leading the learning in the classroom / 2187 F&T & 3T&H &
3arofy s1fdenT favsmmem g

3. Children are active participants in their own education and development / §<d

HueAr fRrawr 3R era A afsra sl faema €1

4. Children follow a prescribed inforfitation / §fe<d Tk foTelTR T SATThIT Al
qTelel A 6|

Correct Answer :-

. Children are active participants in their own education and development / T3

39T e 3R e & i aefierdr Fama &

56) Burning sensation in stomachisdueto_____ ./9€ & elel &1 $RUT ____ &
1. Indigestion / 3197

2. thirst / ©ITH

3. digestion / YTdel

4. Hunger / 319

Correct Answer :-

« Indigestion / 3197



57) What is the natural habitat of Cactus?/
$FCH FT IHfas IarH F4T 82

1. desert / Y&

2. clayey land /ﬂﬁﬂﬂ' 34@

3. Water / ST

4, Land / Siﬁf

Correct Answer :-

« desert / {RTEdTT

58) Which of the following statements does not follow the scientific method? /

farafaf@a & & #la a1 Fya7 dafas gqufa 1 e 78 FIar 82

1. Da Vinci’s art should be costlier than Michelangelo’s art. / &T <t i o

HASholUolall I Fhell F AT gleil ATMeT|

2. The heliocentric model should replace the geocentric model of the solar system. /
T Fearg Heurd (gferaraieges #Hisel) HT € YoMl & H-HASe
gfaeaid & =aeu|

3. Einstein’s theory of relativity triumphs over Newton s theory of gravitation. /
IMSEENT o HIUETAT o RCHTd, "Fcep o A@carehyor & Hetid T
fasrr gred & &

4. Photosynthesis produces more oxygen than respiration. / FehI_T H2IYUT, 29T
q 318 ST P 3cUged T gl

Correct Answer :-

. Da Vinci’s art should be costlier than Michelangelo’s art. / & fa<iY &hr el

HASholUolall I Fholl F HgIT gleil dAMgT|

59) Identify the substance which can be easily compressed by applying pressure on it. /
gaTd ST WXl @ FFfaa fFd ST gFa arer et i ggE FW
1. Ice. | %

2. Carbon dioxide gas. / &Il SBAHTFASS I

3. Sugar crystals. / R fohEee



4. Water. / STel

Correct Answer :-

« Carbon dioxide gas. / FIed SBIHTFASS AT

60) Which of the following is not an example of ICT resources? / fgfeIRad A P
SIS AT BT UP IS8T A8 82

1. Social networking website / AT Acafhal aGN-IIQSC

2. Science blog / TAFATT sclial
3. Science magazine / faailel TfehT

4. Podcast / GISahIEC

Correct Answer :-

« Science magazine / TaIlel UTAT



